ZAVERECNE HODNOCENI_TMK I.

LUKOL 1I.UKOL IIl. UKOL PIiSEMNA ZKOUSKA CELKEM E

237887 30 20 20
218953 20 30 0
218964 30 30 30
218954 30 30 30 38
65415
250627 30 30 30
99740 30 30 30 82 172
146373 10 30 10
221190 30 10 10
218947 20 30 30
216979 30 30 20
237835 30 20 10
182685 30
237885 30 30 30
219034 30 30
218989 30 30 20
175291 20 30 10
16777 20
218979 20 30 20 68 138
218983 20 30 20 68 138
74443
215924
215924 30 30 20
245476 20 10
74488
218972 30 30 30
237852 20 20 20
216605 10 30 20
237890 30 30 30
212537 10 20
103051
205813
218998 30 30 30 30
243469 10 20 30 60 120
179150 0 30 10
185101 10 10 10
182382 30 10 30
215476 0 30
73355
218962 30 30 30
79844 30 30 30
237862 10 30 30

218965 30 20 10



237817
219223
215993
114719
237868
218991
219509
195596
218990
218942
206400
218985
207187
182816
218909
174821
218946
144482
218968
207637
218935
237808
237893

98943
217953
243477
239701
210610

72799
218977
103109
180957
218943
209837
218987
218855
181993
218945
218997
218984
218938
179190

LEGENDA
A=185-202
B=165-184
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20
20
20
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20
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30
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20
20
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30
20
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20
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30

30
30
20
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20
30
10

20
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20
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10
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10
20

20
10
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30
30
20
30
30
30
30
10
30
10

20

30
30

30

30

20
20

74
52
48

76
72
42
76
74
38
58

22

34

64

60

64
72

164

136
152

156
104

144

90

114
152



C=145-164
D=125-144
E=105-124
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